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Q1.

Directions for the following 8 (eight) items:

Read the following seven passages and
answer the items that follow each passage.
Your answers to these items should be based
on the passages only

Passage - 1

Political theorists no doubt have to take
history of injustice, for example,
untouchability, seriously. The concept of
historical injustice takes note of a variety of
historical wrongs that continue into the
present in some form or the other and tend
to resist repair. Two reasons might account
for resistance to repair. One, not only are the
roots of injustice buried deep in history,
injustice  itself = constitutes economic
structures of exploitation, ideologies of
discrimination and modes of representation.
Two, the category of historical injustice
generally extends across a number of wrongs
such as economic deprivation, social
discrimination and lack of recognition. This
category is complex, not only because of the
overlap between a number of wrongs, but
because one or the other wrong, generally is
crimination, tends to acquire partial
autonomy from others. This is borne out by
the history of repair in India.

What is the main idea that we can infer
from the passage ?

(a) Untouchability in India has not been
taken seriously by political theorists.

(b) Historical injustice is inevitable in any
society and is always beyond repair.

(¢) Social discrimination and deprivation
have their roots in bad economies.

(d) It is difficult, if not impossible, to repair
every manifestation of historical injustice.

Q2.

Q3.
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On the basis of the above passage, the
following assumptions have been made :

1. Removal of economic discrimination
leads to removal of social discrimination.

2. Democratic polity is the best way to
repair historical wrongs.

Which of the above assumptions is/are valid ?

(a) 1only

(b) 2 only

(¢) Both1and 2
(d) Neither 1nor 2

Passage -2

Education plays a great transformer role
in life, particularly so in this rapidly
changing and globalizing world.
Universities are the custodians of the
intellectual capital and promoters of
culture and specialized knowledge. Culture
is an activity of thought, and receptiveness
to beauty and human feelings. A merely
well informed man is only a bore on God's
earth. What we should aim at is producing
men who possess both culture and expert
knowledge. Their expert knowledge will
give them a firm ground to start from and
their culture will lead them as deep as
philosophy and as high as art. Together it
will impart meaning to human existence.

On the basis of the above passage, the
following assumptions have been made:

1. A society without well educated people
cannot be transformed into a modern society.

2. Without acquiring culture, a person’s
education is not complete.
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Q4.

Which of the above assumptions is/are valid ?

(a) 1only

(b) 2 only

(¢) Both 1and 2
(d) Neither 1nor 2

Passage-3

Soil, in which nearly all our food grows, is a
living resource that takes years to form. Yet
it can vanish in minutes. Each year 75 billion
tonnes of fertile soil is lost to erosion. That is
alarming - and not just for food producers.
Soil can trap huge quantities of carbon
dioxide in the form of organic carbon and
prevent it from escaping into the atmosphere.

On the basis of the above passage, the
following assumptions have been made:

1. Large scale soil erosion is a major
reason for widespread food insecurity in
the world.

Soil erosion is mainly anthropogenic.
Sustainable management of soils helps
in combating climate change.

Which of the above assumptions is/are valid ?

(@) 1and 2 only
(b) 3only

(¢) 2and 3 only
(d 1,2and3

Passage-4

Inequality 1is visible, statistically
measurable in many instances, but the
economic power that drives it is invisible and
not measurable. Like the force of gravity,

even
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power is the organising principle of inequality,
be it of income, or wealth, gender, race, religion
and region. Its effects are seen in a pervasive
manner in all spheres, but the ways in which
economic power pulls and tilts visible economic
variables remain invisibly obscure.

On the basis of the above passage, the
following assumptions have been made :

1. Economic power is the only reason for
the existence of inequality in a society.

2. Inequality of different kinds, income,
wealth, etc. reinforces power.

3. Economic power can be analyzed more
through its effects than by direct
empirical methods.

Which of the above assumptions is/are valid ?
(@) 1and 2 only

(b) 3 only

(¢) 1and 3 only

(d 1,2and3

Passage-5

Climate change may actually benefit some plants
by lengthening growing seasons and increasing
carbon dioxide. Yet other effects of a warmer
world, such as more pests, droughts, and flooding,
will be less benign. How will the world adapt?
Researchers project that by 2050, suitable
croplands for four commodities - maize, potatoes,
rice and wheat will shift, in some cases pushing
farmers to plant new crops. Some farmlands may
benefit from warming, but others won't. Climate
alone does not dictate yields; political shifts, global
demand, and agricultural practices will influence
how farms fare in the future.
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Which one of the following is the most
logical and rational inference that can
be made from the above passage ?

(a) Farmers who modernize their methods
and diversify their fields will be in an
advantageous position in future.

(b) Climate change will adversely affect the
crop diversity.

(c) Shifting major crops to new croplands will
lead to a great increase in the total area
under cultivation and thus an increase
production. in overall agricultural

(d) Climate change is the most important
factor affecting the agricultural
economy in the future.

Passage-6

A bat’s wings may look like sheets of skin.. But
underneath, a bat has the same five fingers as
an orangutan or a human, as well as a wrist
connected to the same cluster of wrist bones
connected to the same long bones of the arm.
What can be more curious than that the hand of
a man, formed for grasping, that of a mole for
digging, the leg of the horse, the paddle of the
porpoise, and the wing of the bat, should all be
constructed on the same pattern ?

Which one of the following is the most
logical, scientific and rational inference
that can be made from the above passage ?

(a) Different species having similar structure
of hands is an example of biodiversity.

(b) Limbs being used by different species
for different kinds of work is an example
of biodiversity.

(¢c) Man and the aforementioned animals
having similar structure of limbs is an
example of coincidence in evolution.

(d) Man and the aforementioned animals
have a shared evolutionary history.

Q8.
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Passage -7

Around 56 million years ago, the Atlantic Ocean
had not fully opened and animals, perhaps
including our primate ancestors, could walk
from Asia to North America through Europe
and across Greenland. Earth was warmer than it
is today, but as the Palaeocene epoch gave way to
Eocene, it was about to get much warmer still-
rapidly and radically. The cause was a massive
geologically sudden release of carbon. During
this period called Palaeocene Eocene Thermal
Maximum or PETM, the carbon injected into the
atmosphere was roughly the amount that would
be injected today if humans burned all the
Earth’s reserves of coal, oil and natural gas. The
PETM lasted for about 1,50,000 years, until the
excess carbon was reabsorbed. It brought on
drought, floods, insect plagues and a few
extinctions. Life on Earth survived indeed, it
prospered-but it was drastically different.

Based on the above passage, the

following assumptions have been made:

1. Global warming has a bearing on the
planet’s biological evolution.

2. Separation of land masses causes the
release of huge quantities of carbon into
the atmosphere.

3. Increased warming of Earth’s
atmosphere can change the composition
of its flora and fauna.

4, The present man-made global warming will
finally lead to conditions similar to those
which happened 56 million years ago.

Which of the assumptions given above
are valid ?

(a) 1and?2
() 3and4
(¢) 1and3
(d) 2and4
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Qo.

Q 10.
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5 TeRa=t ST ST ?

(@) 269
(b) 271
() 300
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(@) FHEAR
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(a) 4
(b) 8
(c) 10
(d) 12
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The number of times the digit S will appear Q 13. Consider the following Statements and

while writing the integers from 1to 1000 is

(@ 269
b) 271
(¢) 300
(d) 302

A solid cube is painted yellow, blue and
black such that opposite faces are of
same color. The cube is then cut into 36
cubes of two different sizes such that 32
cubes are small and the other four cubes
are big. None of the faces of the bigger
cubes is painted blue. How many cubes
have only one face painted ?

(@ 4
(b) 6
© 8
@ 10

A and B are two heavy steel blocks. If B is
placed on the top of A, the weight increases
by 60%. How much weight will reduce with
respect to the total weight of A and B, if Bis
removed from the top of A ?

(a) 60%.
(b) 45.5%
(c) 40%
(d) 37.5%

Mr X’ has three children. The birthday of
the 15. first child falls on the 5th Monday
of April, that of the second one falls on
the 5th Thursday of November. On which
day is the birthday of his third child,
which falls on 20th December ?

(a) Monday
(b) Thursday
(¢) Saturday
(d) Sunday

Q14.

Q 15.

Conclusions:
Statements:

1. Some rats are cats.
2.  Some cats are dogs.
3. No dogis acow.

Conclusions:

(1. No cow is a cat.
(n. No dog is a rat.
(). Some cats are rats.

Which of the above conclusions is/are
drawn from the statements ?

(@) 1,1II and III

(b) OnlyIandII

(¢) Only III

(d) Only II and III

The number of parallelograms that can be.
formed from a set of four parallel lines
intersecting another set of four parallel lines, is
(@) 18
(b) 24
(c) 32
(d) 36

In a school every student is assigned a
unique identification number. A student is
a football player if and only if the
identification number is divisible by 4,
whereas a student is a cricketer if and only
if the identification number is divisible by
6.If every number from 1to 100 is assigned
to a student, then how many of them play
cricket as well as football ?

(@) 4

(b) 8

(c) 10

(d) 12

PAPER - 11
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Q 16. ST Ueh dTfereht fepelt S & 12 km T gori=r

Q17.

Q 18.
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(@ 14
®) 15
@© 16
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@ 1992
(b) 1994
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10
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(@) 70
() 90
© 210
@ 240

Q 20. fRet ¥ 9 et 100 UfaWTRTAT H | 70,

o €1 afg Fer ufqarfiEt & ¥ 60
TRt T, @ frefatea § ¥ se-ar/9
HAT T B/ ?

1. HH Y FHT 30 TR WA R
2. FHH-U-FH 10 TR WAETT Wi E 1

i U T e ol Tt o et ST YT :

(a) a1

(b) HAA 2
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Q 16.

Q 17.

Q 18.

Q 19.

When a runner was crossing the 12 km
mark, she was informed that she had
completed only 80% of the race. How
many Kkilometers the
supposed to run in this event ?
(@) 14

(b) 15

(c) 16

(d) 16.5

was runner

Raju has 9000 with him and he wants to

buy a mobile handset; but he finds that

he has only 75% of the amount required
to buy the handset. he
borrows 2000 from a friend. Then

(a) Raju still does not have enough amount
to buy the handset.

(b) Raju has exactly the same amount as
required to buy the handset.

(¢) Raju has enough amount to buy the
handset and he will have 500 with him
after buying the handset.

(d) Raju has enough amount to buy the
handset and he will have 1000 with him
after buying the handset.

Therefore,

In 2002, Meenu’s age was one-third of
the age Di of Meera, whereas in 2010,
Meenu’s age was half the age of Meera.
What is Meenu’s year of birth?

(@) 1992

(b) 1994

(c) 1996

(d) 1998

Rakesh and Rajesh together bought 10
balls and 10 rackets. Rakesh spent 1300
and Rajesh spent 1500. If each racket
costs three times a ball does, then what is
the price of a racket ?

Q 20.
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(@) 70
() 90
© 210
@ 240

In a conference, out of a total 100 participants,

70 are Indians. If 60 of the total participants

are vegetarian, then which of the following

statements is/are correct ?

1. Atleast 30 Indian participants are vegetarian.

2. At least 10 Indian participants are
non-vegetarian.

Select the correct answer using the codes
given below:

(a) 1only

(b) 2 only

(¢) Both 1and 2
(d) Neither 1nor 2

Directions for the following 8 (eight) items:

Read the following six passages and answer
the items that follow each passage. Your
answers to these items should be based on
the passages only.

Passage - 1

Low-end IoT (Internet of Things) devices are
cheap commodity items addressing security
would add to the cost. This class of items is
proliferating with new applications; many
home appliances, thermostats, security and
monitoring devices and personal convenience
devices are part of the IoT. So are fitness
trackers, certain medical implants and
computer-like devices in automobiles. The IoT
is expected to expand exponentially but new
security challenges are - daunting.

1
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Q21. Suded Ui @ Fefafaa et @ @A-ar  Q 23. fr=fefiad # | SIF-91 Tk, Suded uiese 9

Q 22.

12

Teh, Wallyeh dehdd 3R faaegut frreesd
FrremTerT ST HEHar e ?

(@) 9RE W GHLHN (TR ) WEnfifeRa o faena
TG [T &5 o I ST Srerel o1 Wehdi ¢ |
(b) TG~ & A Bl & g, WRA IoT i
SO % o 31t O e TR =R € |
(c) TE - [T SVl o ferehfera e 9

ST 37 3ok SIRMHeE a9 ST ¢ |
(@) -5 g fefSed g < @ €, Sfau 10T
ST W SeXIe TRAT i B aTel 9 Tk

U SMEATTF 7 |
Ui - 2

-1 fefteat e siftrenier QreifTes &b i
fervaad =R arft 3 fefiea & W gfe s
W ¥ T W % 9 s wites w9 9
SufaeE | e < ¥ W efwe (fam
22 Hod ©Y Y GO A1 @i+t R ST € 3R 5
forenfira <ot o feffea smgemn # TuiaRa == feon
STl €1 98 ST fafi et i FEfE &
3R THIRRROYe R gl Sl I o3 ol € |
IR & U, SN () H Hell Ve HH ol
T T fereelt St SR 3R =TeTehi i e deh el €;
TE -, Ak e, TSHi, FTE, TR H
TeIsl, AR SR Aeteh] o JufFIR TR
ffmearati enfe & Feifer fefieet smEAI ? |

frafeafiaa & @ SF-a1 T, Suded uitwsg &
Haiferes dehEta 3R faraeryut sufrmm e 2

(@) TR AR % feli o 3Tehet el ©, iR e
TR AT Mfieh Seet ot &t T e |
forvaeait =R ardish § 9YRd @l O
fefSea uym = s=m 7@ & fore gaee
T =R |

(c) WA I U S ¥ 9 kel & e

TehITerehTY fohara TR 3T =12y |

(d) R W TS 3ifnel ol Bif 38 faesl ==mR =it

/A & FHEIN R |

(b)

Q 24.
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Hatfres FHyaaTeTs 0 9 SUATIa e e 2

(@) Tefea fogeom & a¢ sitwe (fm sa1) =
GHEHEA R |

(h) T e W oL e YR B ® |

(c) TS 3iihet doh g faefaa <2 =1 ferfier
gl

(d) TS 3ehel e UgH SR i ferehfir <3t
fafdmeare |

uf=de-3

TRd FHA R fava & wreior i &1 Aa-Fa
STeraTy] Ufkad = B 0 AR @1 €, 9 g9k
Gl 1 WA S | A i dfed | 8 1 Fe
319 a9 SR AIH % Uit Sidl ) 9
At e, S @ o 9T, Herauere &
®q o gRonfid € gehdl €1 3 Y Tk 9 ®,
SI9 foF 9 WX ® gfy o Sa-ufd W fererd
T fewl o1 uwTa B F wH A Hewaget
22 X forgar & o € e (fafersm) =« e
ST 3R srshiferest & forg 371 o) fsfe &1 9yRa o
B Siid arel foRE <9 1 41 Wi @rer=
3 317 @rE yere SedTied hid § e T

T ST W YRET § ANE # |

Suded Ufede 1 Waltueh dedTd 3R
ferdreryut Sufm S-|r e ?

(@) B FEED Hl AR < =il w9 9
gl foehrd & aR o fordt st srfaeh o
Hewqul 9 |

(b) [HSE AT o Ao 1 fre <u o B
ftreht el Bl |

(¢) a2 g H e aRer) o 2 o %R 9Rd
I, STel ek WIS ol STTAT feh. ST Fehell &,
T &N S T e |

(d) 9RA T Fad BIA Sd ard fFE Qe GRe
g T B
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Q21.

Q22.

Which one of the following statements is
the most logical and rational inference
that can be made from the above passage ?

(a) Development of enabling technologies in
India can be a big boost to its
manufacturing sector.

(b) India is not yet fully ready to adopt IoT in
view of the imminent security challenges.

(c) Life becomes more comfortable with the
development of cheap low-end IoT devices.

(d) As we go digital, we must recognize the
huge threat to Internet security from
some IoT devices.

Passage -2

With the digital phenomenon restructuring most
social sectors, it is little surprise that global trade
negotiations are now eyeing the digital area in an
attempt to pre-emptively colonise it. Big Data is
freely collected or mined from developing
countries, and converted into digital intelligence
in developed countries. This intelligence begins to
control different sectors and extract monopoly
rents. A large foreign company providing cab
service, for instance, is not a network of cars and
drivers; it is digital intelligence about commuting,
public transport, roads, traffic, city events,
personal  behavioural  characteristics of
commuters and drivers and so on.

Which one of the following is the most logical
and rational corollary to the above passage ?

(@) Globalization is not in the interests of India
as it undermines it socioeconomic structures.

(b) India should be careful to protect digital
sovereignty in global trade talks.

(¢) India should charge monopoly rents
from multinational companies in
exchange for Big Data.

(d) The loss of Big Data from India is proportional
to the degree/value of its foreign trade.

Q 23.

Q 24.
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Which of the following is most definitively

implied by the above passage ?

(a) Big Data is the key resource in the
digital space.

(b) Big economies create Big Data.

(¢) Access to Big Data is the prerogative of
developed countries.

(d) Access to and possession of Big Data is a
characteristic of developed countries.

Passage- -3

The rural poor across the world, including
India, have contributed little to human-
induced climate change, yet they are on the
frontline in coping with its effects. Farmers
can no longer rely on historical averages for
rainfall and temperature, and the more
frequent and extreme weather events, such
as droughts and floods, can spell disaster.
And there are new threats, such as sea level
rise and the impact of melting glaciers on
water supply. How significant are small
farms? As many as two billion people
worldwide depend on them for their food and
livelihood. Small-holder farmers in India
produce 41 percent of the country’s food
grains, and other food items that contribute
to local and national food security.

What is the most logical and rational
corollary to the above passage ?

(a) Supporting small farmers is an important
part of any agenda regarding
environmentally sustainable development.

(b) Poor countries have little role to play in
the mitigation of global warming.

(¢) Due to a large number of farmer
households, India will not have food
security problem in the foreseeable future.

(d) Only small-holder farmers in India can
ensure food security.

13
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Q 25.

Q 26.

14

Suder URede Sucard s e feh

1. RA H W STRET i Wi T € |

2. 9RA I U SRS WSEH hl &THATE T
A BT

U T & - YAIRUTT Qe RuTTd e 8/ 2

(a) Ha 1

(h) HEA2

© 1322

@ T, IARAE2

uR=sg- 4

aeetdl ST IR sod fued o o weRi &
(a9 frat ot sifegs B siftw vEm @
frasehl & Widhe W oSl 99E 9% ghdl 21 d
sHufEt St oSt A0 o Siared el 1 Saed =
ST A &, A F IR TS St o Al
M | H Sl ScATeh! & (1T 3 T HSRI I
SUETH A ST BT, SR $7eh ure fh 2371e%g
YIER (T2S 38H) dd 3R SiFd & 9 ey
3 <79 - ﬁ%ﬁw%aﬁw@%wwﬁ
- IUeTHd 3R S aeifee HEE qwE

O TR SR &N T e et S - W@r
TIferd &1 Hehd € 1 -

UGS URESE oh SMIR U T ad Jaenumd
STETEE:

1. SToarg URed= sl HEAT R % I TR
3R FEFE w TEE ®Y 9 dER B W
ST E |

2. 3w HEH S HEsl 9 wias § SR
3R St~ o sTifefer ferenre s H 2 ST |

3. SToTary U st UM AT et % fae
T SIRaA 2 |

Q 27.
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SRR H H - H YR / RO e /2 ?

(a) el 1 3R 2
(h) HaA 3
(c) ohael 133

@ 1,233
uf=se 5 -

et 39 H 31 9t T ot ferarerh e qe
g BT T fergerendt B, féig ToTargeR fnen qen
EE B § Wt nfien R %, SMUR W U
e e femré St B | IR-TRen ) faraersii § sk
Tl & fTT hier 1 SueY Fgesh 3R st I
T31eq o1 st ST, 2009 §RT fRaT T R 139
SHIT3 + WIS Tehiehtol 3R f1an # | & 39
TR} R U 7E @ & 2 R iR-we i
FT T4 g I | TS e yomett o o,
T &7 TSR H AT @, TR-TRe feremersii
% FUFEET S 9 % SRR ¥ 96T Ui BT ¢ |
3T, el R frT ST 9 wferiy s ST
I TS B, S hi-hel =it S e ? |

Suer uiesg o Heut o frafafea geemomd
TETER :

1. SR H GHMC B TF arEdfdehdl a4 A
AR e YOIl <61 SMeIRYd e € |

2. IAHM WRAE foRmer™ womell e e
W e | ergHed 2

3. IR-TREFR et s S 3R st

THRI foRneri ot SO € SHarere; e
G s o1 A 91 8 |
ST B W i - E G euT /e ey 8/ 2
(a) a1 3 2
(b) e 2
(c) Hae 2 33
(d) HadA3
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Q 25.

Q 26.

The above passage implies that

1. There is a potential problem of food
insecurity in India.

2. India will have to strengthen its disaster
management capabilities.

Which of the above assumptions is/are valid ?

(a) 1only

(b) 2 only

(¢) Both 1and?2
(d) Neither 1nor 2

Passage-4

A changing climate, and the eventual efforts
of governments (however reluctant) to deal
with it, could have a big impact on. investors’
returns. Companies that produce or use large
amounts of fossil fuels will face higher taxes
and regulatory burdens. Some energy
producers may find it impossible to exploit
their known reserves, and be left with
“stranded assets” deposits of oil and coal that
- have to be left in the ground. Other
industries could be affected by the economic

damage caused by more extreme
weatherstorms, floods, heat waves and
droughts.

On the basis of the above passage, the
following assumptions have been made:

1. Governments and companies need to be
adequately prepared to face the climate
change.

2. Extreme weather events will reduce the
economic growth of governments and
companies in future.

3. Ignoring climate change is a huge risk
for investors.

Q 27.
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Which of the above assumptions is/are valid ?

(a) 1and 2 only
(b) 3only

(¢) 1and 3 only
(d) 1,2and 3

Passage-5

Access to schooling for those coming of school
age is close to universal, but access to quality
exhibits sharp gradient with a socio-economic
status. Quotas for the weaker sections in
private schools is a provision introduced by the
Right of Children to Free and Compulsory
Education Act, 2009. The quotas have imposed
a debate on issues of social integration and
equity in education that private. actors had
escaped by and large. The idea of egalitarian
education system with equality of opportunity
as its primary goal appears to be outside the
space that private school principals inhabit.
Therefore, the imposition of the quotas has led
to resistance, sometimes justified.

With reference to the above passage, the
following assumptions have been made:

1. Making equality of opportunity a reality
is the fundamental goal of the Indian
education system.

2. The present Indian school system is
unable to provide egalitarian education.

3. Abolition of private schools and
establishment of more government schools is
the only way to ensure egalitarian education.

Which of the above assumptions is/are valid ?

(a) 1and 2 only
(b) 2 only
(¢) 2 and 3 only
(d) 3only
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Q 28.

Q 29.
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ufR=de- 6

R | qUe (TB) HehlHd Tgaed onm ¢4 €
3R TRl T TI90T, SUFE ST 1 39T B
3R S9a & AR H I GHG 9 & e ¢ | W H,
qufeer aftar] o1 FeTe T ar 8, Frefai @i 3
e o= B, @ dR W afgensi 3 w= @
T A1 7, 3R 3= Fafe 3 Ui &1 g&ia)
i 3R o ST € | IS I R A aufee 5= A
ff AR, 9 off y@ IR T ¥ 9 W S gEd
T=E 97 ¢ foF U T a7 g e, TSt
AU, AW ITER AR GEA e qon
IRaR W T Yool 1 A9, IAUMRR] qI9d
Turel o | e Y W R STER SR T |
gdicaTed Hid & foTeeh sl - Tareey daeh
R B B |

frafefiaa o @ -1 Ueh, Suger uiese gRT
feor e waifer dehET, fedeRgul SR
ot waore 2

(a) W gRfEefera) | qufees Qe AT © |

(h) TUEH H FH wA & fau FEE AR
Ffrcde STER § el 3R sifues o
STl Bl € |

(c) TR FARE @ frafaf gfegef 8; ek

el Al ot SoIR ek TEe T B |

YRA qUfe <A AW W ot adt g B

ST THeh e IO HIHHH TR

3R Terar 9§ wiftad fre s

Rt Ufa-HiTeTT SARa oY, R I ] V aaT §,
TR R T o ST ST T T € 317 Uk aet
O H R U B T R ST R e e |

1. fFEfafed woEl ) R i &= & 9=
el w1 = N A T

2. TR (II) 3R (IV) T 0l = it o 4w
eI

3. Ted (1) R ufed (V) el o ol 31 |
T™MeI

(d)

Q 30.

Q 31.
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g GHvad & & g, fos &g o < shamma
T aiEe:

(a) HaAHAT 2 T

(b) HaA HUF 3 YA B

(¢) H 1 T & €, o weH 1 % Wa-|y
U 2 I B YA 2 |

HUA 3 A T 7, R oM 3 wre-any
FUF 2 A T |

P, Q 3R R AR E | P 3T Q h e i 60
km 2, STafeh P 3R R Fefiwr @t gl 80km 21Q,
PR UREHHE 3R, PHIWOIHE 1Q 3R
Fafta frar gl e ?

(@) 130 km
() 140Kkm
(¢) 110 km
(d 100km

ferelt oreTer o Tt TS HolE T 31 Ueh Bleet
H T | Ugel & 80% @it & faw Tw ok
50% TAeT & foTT T, Sefer 10% ¥ geaT o
fagma fweam | Sudem eiiwst |, frefafea &
| H-91/7 Torews forarrar/frsrer st gadr/
THAE/E?

1. 40% Hesd GiER & Hig-919 qHe & fag
ot 7T |
2. 20% HeE had TR & fag g |

e few T e ST UET R | ST g

(a) a1

(b) HAA 2

© 13K 23R
@ A1, IARAE2

@




www.khanglobalstudies.com

Q 28.

Q 29.

Passage - 6

A majority of the TB infected in India are poor
and lack sufficient nutrition, suitable housing
and have little understanding of prevention. TB
then devastates families, makes the poor
poorer, particularly affects women and
children, and leads to ostracisation and loss of
employment. The truth is that even if TB does
not Kill them, hunger and poverty will. Another
truth is that deep-seated stigma, lack of
counselling, expensive treatment and lack of
adequate support from providers and family,
coupled with torturous side-effects demotivate
patients to continue treatment- with disastrous
health consequences.

Which one of the following is the most
logical, rational and crucial message
conveyed by the above passage ?

() TB is not a curable disease in Indian
circumstances.

(b) Curing TB requires more than diagnosis
and medical treatment.

(c) Government’'s surveillance mechanism
is deficient; and poor people have no
access to treatment.

(d) India will be free from diseases like TB
only when its poverty alleviation
programmers are effectively successfully
implemented. And

A five-storeyed building with floors from I

to V is painted using four different colours

and only one colour is used to paint a floor.

Consider the following statements:

1. The middle three floors are painted in
different colours.

2. The second (II) and the fourth (IV)
floors are painted in different colours.

3. The first (I) and the fifth (V) floors are
painted red.

Q 30.

Q 31.
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To ensure that any two consecutive
floors have different colours

(a) Only statement 2 is sufficient

(b) Only statement 3 is sufficient

(c) Statement 1 is not sufficient, but
statement 1 along with statement 2 is
sufficient

(d) Statement 3 is not sufficient, but statement
3 along with statement 2 is sufficient

P, Q and R are three towns. The distance.
between P and Q is 60 km, whereas the
distance between P and Ris 80 km. Q is in
the West of P and R is in the South of P.
What is the distance between Q and R?

(@) 140 km
() 130 km
(¢) 110 km
(@ 100 km

All members of a club went to Mumbai
and stayed in a hotel. On the first day,
80% went for shopping and 50% went for
sightseeing, whereas 10% took rest in the
hotel. Which of the following
conclusion(s) can be drawn from the
above data ?

1. 40% members went for shopping as well
as sightseeing.
2. 20% members went for only shopping.

Select the correct answer using the code
given below:

(@) 1only

(b) 2 only

(¢) Both 1and 2
(d) Neither 1nor 2
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Q 32. Toreht foremerar §, 60% foremeff fFde @@ 15T Q 36. TH TSR (1000) X F THIASHX, Y 3N Z

Q 33.

Q 34.

Q 35.

ferameft forahe 1€t Werar 8, o8 HeaTd Werdr 2 |
T FEaTe Raeirst & urT Uk Sufear area € |
e s 94 FerAR 3 5 A 5 oo
T e ST HEA § 2

1. 60% faefiai o ure Sufea g el @ |
2. el ot forohe ReeSt S T Qe A el 2 |
3. Torohe Raerel Hearel 76l Gerd €

e U T e o1 Tt oY T ST g :

(a) hae 132
(h) a2 3R 3
(c) ohael 133
@ 1,233

BT 37ehi oht SFTYUT HET ST, 36k 37ehi ohl SThHT
I W S HEAT W G 4: 7 1T g
T At g ?

(@
(b)
(©)
@

fordt udiem ®, A ¥ B 9 20 3ieh 3fares urd forw
F1afe B A | 5% & 3ich U fpu &, at B 3
forae sim TTE fRT E 2

360
380
() 400
@ 420

Har 37X T wa9T: T 2 fEAt o e 3
Tt & 3TaTet o a7 aRTeht & fera STt 8 1 af 1
S S ST Teh | alTeht o fera 77 off, 4t
A AT SR el Ueh HTL STAIT 2

(@)
(b)
(©)
@

N W B WO

(@)
(b)

Q 37.

Q 38.

Q 39.
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W ufaanh €)1 7 e o & et e
THTA Tt ST &1 Y, X | 40m 3 &
AT IEHATE 3N Z, X ¥ 64m F A Sre
FPEHETE 1T Y 3T Z S 1000 m &l TH SIS
¥ ufeeaet & 8, @ Z, Y 9 fohas dex e
ST YRS AT ?

(a) 20
(b) 25
(c) 30
(d) 35

JfE x 25 & SR AT IEQ FSTE, 3y, 40 &
HH AT IHF SRTeR 8, A Frrfeiad & 9 shie-ar
TH AT TR ?

(a) x,y'@[a?;T%

) (yx), 1592

© (y-x),15 ¥ B THH S 2 |
@ (x+y), 659 TS TN 3Th 2 |

97 37 T forT SR e 3 4 AT T g
IS HTAT SHh fUar & di a9 ST € ST 4,
ST 13 aE EN T, 24 T aST B 1S Foar s foRw
S H ferare gam o ?

(@) 229
(b) 237TH
(c) 247TH
(d) 2599

YT & TN ek fafyre ot & 8 Hiense
Fele TleA & foe amfyn of | sifer e
TTURT 3 3H W FSHE W g s G
TS TaT | TWERYT 31U UTH &t gAAidT | 10
HeTge Eg8e TiE Hehl| Gl ST g
Tt 9e fera=t of ?

15%
20%
25%
30%

(@)
(b)
(©)
@
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Q 32.

Q33.

Q 34.

Q 35.

In a school, 60% students play cricket. A
student who does not play cricket, plays
football. Every football player has got a
two-wheeler. Which of the following
conclusions cannot be drawn from the
above data ?

1. 60% of the
two-wheelers.

students do not have
No cricketer has a two-wheeler.
Cricket players do not play football.

Select the correct answer using the code
given below:

(@) 1and 2 only
(b) 2and 3 only
(c) 1and 3 only
(d) 1,2and3

The ratio of a two-digit natural number to
anumber formed by reversing its digits is 4:
7. The number of such pairs is

(@
(b)
©
(@

In an examination, A has scored 20 marks
more than B. If B has scored 5% less marks

N W B~ O

than A, how much has B scored ?

(@ 360
() 380
(©) 400
@ 420

Seeta and Geeta go for a swim after a gap of
every 2 days and every 3 days respectively.
If on 1st January both of them went for a
swim together, when will they go together
next ?

Q 36.

Q 37.

Q 38.

Q 39.
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(@) 7™ January
() 8™January
(c) 12™January
(d) 13" January

X, Y and Z are three contestants in a race of
1000 m. Assume that all run with different
uniform speeds. X gives Y a start of 40 m
and X gives Z a start of 64 m.If Y and Z were
to compete in a race of 1000 m, how many
meters start will Y giveto Z ?

(@) 20

(b) 25

(c) 30

@ 35

If x is greater than or equal to 25 and y is
less than or equal to 40, then which one of
the following is always correct ?

(a) Xis greater thany

(h) (y-x) is greater than 15

(¢c) (y-x)isless than or equal to 15

(d) (x+y) is greater than or equal to 65

Ena was born 4 years after her parents’
marriage. Her mother is three years
younger than her father and 24 years older
than Ena, who is 13 years old. At what age
did Ena’s father get married ?

(a) 22 years

(b) 23 years

(c) 24 years

(d) 25years

Rakesh had money to buy 8 mobile
handsets of a specific company. But the
retailer offered very good discount on that
particular handset. Rakesh could buy 10
mobile handsets with the amount he had.
What was the discount the retailer offered ?
(@) 15%

(b) 20%

(c) 25%

(d) 30%

PAPER - 11
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Q 40. TEamTa 2 T 100 foaenfeli & siraa sic 40 B

1S H TE UTAT 7T Toh Ueh Teramedt ot 37k 53 ot
5% 9ot & 83 Ugr W | weifuw S 3k
feraTe?

(a) 39
(b) 39.7
(c) 40
(d) 40-3

3T 3T AT 7 (W) W9 ok fee ot :

frrefafiaa o aiesl i ufke ik T s
& 91E 3 aTel WIS & 3R T | 3w
% fTT 31k ST shael Haiyd gi=se 1) aemid
BH =1feT |

fese- -1

‘AR FUARU  [SHfes  HifefRERIE
(GM)] * WreEfirh! &1 =amaes iR glemntia w9
q A & A0 g S ufa)ie 7, 98 © difes
HUeT AR’ w1 soraeer, s U Hrenfifenai o
T TR-TRFR TR YRAq w31 =med! 2 |
Tfe GM Wrenfiren! sifurerierd: shae =mferd &1, a
TE AN Bl ATUHTH HIAT =Edl © M g8 oA
gt & ety "1 wE wRw ® fR st
MRS HES0] 3R A9 Sia- wieRie wHai
% fore o2 Forarer st € 1 U TureH oS gHT &
o0 &1 991 T8 9T §, it I Seel g1 AT
Site 3 ERYaaR fasfdd g9 o @ik T
AfeRieg W HTg U1 - o7 | HUFTE R TR A HRA
Sl & | TS foram &= = o7g o1 Sare off
o smafies. Tuiawer § weofysar W& = &
T I < S A S G, A iR
3 HOLHT YTl & foTg wfeiel wer e o
eI B |

Q 41. Tr=fafeas & @ SH-91 Tk, Sudad ui=se

20

TR T e wattyes qehda, faaeygut 3w
foras w@wre ?

PAPER -1I
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(a) R STTHYT GEsl 1 GM Wenfiren o
T B WIfRT SR T Wi W
MAfeRIaT ol qF S =My |

(b) Tasprasiicr <9 1 I8 g WTO | 331
R 3R difger Guer BRI 1 THGA
GHfE=d s =y |

(c) TR-TRT Hul= ol 9Rd | HY @™
(U fae) 3, W 1 oS 1 SR
T T AR Tel B =)’

(d) Tdum  aRdm ufifeafaat  srdfiTea:
FUTANd wHE I H F g T TR |

Q 42. SUged URwwE & SMUR W famfafeEd

THaRUTE SATE TR

1. Y G Wrehfash saeredi & wTd % e,
W GM WeNfireRt safrat g1 wgfa foem
T for ST R

2. SiadiTedl, GM WeNfiel yHed™ 99T %
HROT IA B Arell B FHEAE
HHTHTT &l hY e |

SRR R - RO/ qeeTRuTTe ey 8/ 2

(a) HIA 1

(b) HaA 2

(¢) 18R 23H

(@ Jd1, IAE2

ufiese-2

1fereRieT 3MehTHes STt (S=afde THeieT) = ¥R
®9 U UEA €, 7 & I JHureE g1 oA &
STTSHTH TIEY 7 f SAT9eh &9 W Ul ¢, 1 8 @9 asht
Y Hed 7, 3R SRR % F aXE & v WiEd
e} Sl ST HH WU HA A | 7S St 6l
STTHA ST &em €1 ot e o Sg-fafgeran =
1 <A1 €; 9gd W HIEell H Taniden! i g SR o
STehd STifel <l feretiae ot X el o St | SehT ek
HROT 5 ¢ 2R SATHhTHR UIGY Weftd et 3iR SerR
1ot Yty ol e % faregedr qAtaral i, Sl $R T
ot sfiferd <78t T, SufERE = & IR wgw e
HEREICERCErteicik A
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Q 40. The average marks of 100 students are

Q41.

given to be 40.1t was found later that marks
of one student were 53 which were misread
as 83.The corrected mean marks are

(a) 39
(b) 39.7
(c) 40
(d) 40.3

Directions for the following 7 (seven ) items:

Read the following six passages and answer
the items that follow each passage. Your
answers to these items should be based on
the passages only.

Passage - 1

What stands in the way of the widespread and
careful adoption of ‘Genetic Modification
(GM) technology is an Intellectual Property
Rights’ regime that seeks to create private
monopolies for such technologies. If GM
technology is largely corporate driven, it seeks
to maximize profits and that too in the short
run. That is why corporations make major
investments for herbicide-tolerant and pest-
resistant crops. Such properties have only a
short window, as soon enough, pests and weeds
will evolve to overcome such resistance. This
suits the corporations. The National Farmers
Commission pointed out that priority must be
given in genetic modification to the
incorporation of genes that can help impart
resistance to drought, salinity and other
stresses.

Which one of the following is the most logical,
rational and crucial message conveyed by the
above passage ?

Q 42.
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(a) Public research institutions should take
the lead in GM technology and priorities
the technology agenda.

(b) Developing countries should raise this
issue in WTO and ensure the abolition of
Intellectual Property Rights.

(¢) Private corporations should not be.
allowed to do agribusiness in India,
particularly the seed business.

(d) Present Indian circumstances do not favor
the cultivation of genetically modified crops.

On the basis of the above passage, the

following assumptions have been made:

1. The issue of effects of natural calamities on
agriculture is not given due consideration by
GM technology companies.

2. In the long run, GM technology will not
be able to solve agricultural problems
arising due to global warming.

Which of the above assumptions is/are valid ?
(@) 1only

(b) 2 only

(¢) Both 1and?2

(d) Neither 1nor 2

Passage-2

Most invasive species are neither terribly
successful nor very harmful. Britain's
invasive plants are not widespread, not
spreading especially quickly, and often less
of a nuisance than vigorous natives such as
bracken. The arrival of new species almost
always increases biological diversity in a
region; in many cases, a flood of newcomers
drives no native species to extinction. One
reason is that invaders tend to colonies
disturbed habitats like polluted lakes and
post-industrial wasteland, where little else
lives. They are nature’s opportunists.
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Q 43. Suger uf=ae | fr=fefad § 9 wi9-91 U,

Q 44.

22

Hatfires dehdTTa 31T faraeryut forserd fremter
ST EeRATE ?

(a) SHTHS ST 1 STAN fordd o9 & HE &5
3R =ref ftrdt & gata & forw fpa s
M"Y |

(b) Toceh uedl & wfEevE % favs &
CEICERER S

(c) -, el uredl & fovg gfem =@
fRF B R |

(d) et uredi @1 syEm fomdl <9 & Sa-
fafaerar sem o foru feman ST =R |

uf=se-3

WA =i § erfgent (STARET) © e el dd
HEAd: WrE 3R ST o WO &1 S o SR et
€ | i H Tt diwster SR SrgRier Tl @
SUAN, WE-USE 1 HeNU 3 TE-T@rd
STEATELTHT dehi § fRU ST W o T @1y gt
o AT IRAST | 1T 31 forafid forg st
e U ST R & [5TTeh faf=ame 3R A
W SETIhAl & | WM ol fierae & aR H @R
HIq TR ol T 3 & adehi & aR o
SREe BT ! SMaehdl € | WTel HehTHeh T ot
AR 9 o e SRR ST e §
3 Ferdieror shida & 3o WRIETT &l STeverehdl
2 | ST foraR hvd g R STet STEwe o1 o
AT 319 2T s o foT Teft-Taehe T faehe
el 9o R el R, Tel-gaes WA S
qredl o HRTeTT 3R freror o e e 92 Hewd
Eakd

U UResE o SR W ffafed geremomd
TAETEE:

1. @ gReT U Sied e € e smes fay
HHIEMAT o ST & |

2. TARET SR wfdreror o forg Seife s | Wi
AT S o Tl |

3. A Sl WY THEHRI0 39 ol a3
?q T fafa-fmfor w33 it sraveear 21
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Suger H | ShiF-Ht T LUROT / g dg
B18?

(@) ohael 132
(h) HaA 3
(c) haeT 133

@ 1,233
uR=sg - 4

FAR ORI &1 AT | Ufeiiass ®9 9 A
IR Frefa @it & fedt & 3vem S @)
TR TR 9HE ®9 9 srfew], sRpfird ik
SIRrEET AMfent & fIT T T AT T S 5
@ €, A = R adiehi — fEer - ferehra Arste
Y & TS S S @GS - €, S A &
e erwel SR savawarslt ¥ g S Y@
B, 3R SEd R M, TATT, ey SR gensi
=i, Sl fFel TR & sfafes=1 9 B ©, |
T T I 7 IWd U, T ToheIeh! [erRroeal
¥ fore S 7 )

g el e & fen gw uftede o

(a) T OISt & TSR q1 Hyid THEl %
fercii o fereg e el fepan TR

() favaadm iR gomafed (W) TR &
TRl o foreg deh TRl ool TR & |

(c) TEIA: HIER o 3R e el o forg Ry
1 ST S o 98T deh T o T |

(d) TR S T STl & FHET Sl TSR o el
T ek el feRo TR E |

ui=se- 5

9RA & WM §gd atue gem o e € @ik
qfyea o fak 10 wfaea =afed dnfsa &= o
frraifsta €1 ed favare feamen s w1 ? for e
e dafy A T VSR 391 8 © B |
Wfeh U € el | <19 gARl srefeawen 3 wiwrd
wferad ¢ & o, a9 Gufed &% § AR 2 wiw
yfead &g T o1 St € srefeazen 7 8 wfawa
Tfas Se I 58, TS &9 H IR T8 #
T arETE | 52 Y 1 fawrd ufee - ® T |
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Q 43.

Q 44.

Which one of the following is the most
logical and rational inference that can
be made from the above passage ?

(a) Invasive species should be used to
rehabilitate desert wastelands of a
country. areas and

(b) Laws against the introduction of foreign
plants are unnecessary.

(¢) Sometimes, the campaigns
foreign plants are pointless.

(d) Foreign plants should be used to increase
the biodiversity of a country.

against

Passage-3

Diarrheal deaths among Indian children. are
mostly due to food and water contamination. Use
of contaminated groundwater and unsafe
chemicals in agriculture, poor hygiene in storage
and handling of food items to food cooked and
distributed in unhygienic surroundings; there
are myriad factors that need regulation and
monitoring. People need to have awareness of
adulteration and ways of complaining to the
relevant authorities. Surveillance of food-borne
diseases involves a number of government
agencies and entails a good training of inspection
staff. Considering the proportion of the urban
population that depends on street food for its
daily meals, investing in training and education
of street vendors is of great significance.

On the basis of the above passage, the
following assumptions have been made:

1. Food safety is a complex issue that calls
for a multipronged solution.

2. Great investments need to be made in
developing The manpower surveillance
and training. For needs to make

3. Indiasufficient legislation for governing
food processing industry.

Q 45.
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Which of the above assumptions is/are valid ?

(a) 1and 2 only
(b) 3 only

(¢) 1and 3 only
(d) 1,2and 3

Passage-4

The interests of working and poor people have
historically been neglected in the planning of
our cities. Our cities are increasingly
intolerant, unsafe and unlivable places for
large numbers of citizens and yet we continue
to plan via the old ways the static Development
Plan - that draws exclusively from technical
expertise, distanced from people’'s live
experiences and needs, and actively excluding
large number of people, places, activities and
practices that are an integral part of the city.

The passage seems to argue

(a) against the monopoly of builders and the
interests of elite groups.

(b) against the need for global and smart cities.

(¢) in favour of planning cities mainly for
working class and poor people.

(d) in favour of participation of peoples’
groups in city planning.

Passage - 5

A vast majority of Indians are poor, with barely
10 percent employed in the organised sector.
We are being convinced that vigorous:
economic growth is generating substantial
employment. But this is not so. When our
economy was growing at 3 percent per year,
employment in the organised sector was
growing at 2 percent per year. As the economy
began to grow at 7 - 8 percent per year, the rate
of growth of employment in the organised
sector actually declined to 1 percent per year.
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Q 46.

Q47.
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S uReSe whr Fferel e T AT E R

1. s s s Tty e |

2. R AEE YR IR sreforaRen 9H-
UM, Wiehfeh SEEA-3MeRa Ssiferest o
1 T HEsiel Heiel hl Hedre el <l |

3. W emefag |

4., ¥ H YaT & 9gd FE-UEH &l g1 WeR
TTHIOT e fSd & | YA A
TogF Tel ¢ |

STdE HUA A A BT TS ?

(@) ohael 132
(h) A 3 3 4
() Had1,2 33
@ 1,2,334

uf=se- -6

IRA § UG Sk Hueh €, S R-<0 o s &
o T Sl SehT o SR § o § Heg Hid B 1 d
U R T, THF [T 9% ANl | IS HHE e
Y Fehd | o fawitg fren 3R e | e s
1 3UeT off e X Fehd | ST Gk Tk e 9
T T ¢ % 3¢ AT iRed & ®9 § @l
@l S Ghdl | qefy, A o At e |
Hicrsier <17 & ¢ | fh o Sherel Ueh Seh o fe1q 1
Y, HYed: 3ia- o (3Mfeest) 9 s=md o forg |
e qeh T wET @ % waArEi | qoft Ahetar fira
TRl €, T4 G-SXS § 1 HIA ATl RE BR
% UY Hdhaial & U 3R 39 yaushi & fore o,
S T el MR e @i Hi, dfeed gefer
TaY S SH qOT Y UvE ASEIe S el
=1 i G &ed €, 19 e | Sga Wieared
IS B |

Sude uRese ¥ frmfafaa § & wi-a1 T,

Haifires TehETe, fararengut 31T frotiaes frreend
e ST AT ?
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TRA % -G % TS &5f o At ol Sfeht
% EPR H & o WITE Tl T gUE |

Hrefer foriia TaTae o fou, W st sfehT
woelt H 3R aiferer wemr § Afeh wufdhay
T MR B & UH 379 wEASaisi o
STTITTHAT & |

(c) IR T Grefer famia Tomee o fog 39 o1 )
SevTendl & fob sfeht dufehal o qre fafer
IS B |

SfehTT e B TR I e SIEWd BNl 5T ek
foh v Sk Sush 1 3k Aol % foTe e
T T S A |

3T 132 129 124117, 106,93, x T X TR ?

(@)

(b)

@

(a) 74
(b) 75
(c) 76
(d) 77

I SR TSl Tcdieh 24 T H 10 fi=e st =it
B I IS B AR & gaig 8:00 ST TE HAT
Toram & Tore W@t fomar e | ST o2 et gaan
I 3TITE 6:00 S T THI Tt €, at wet
TATFATE ?

(a) 3T 5:36
(b) 3TTE 5:30
(c) ITRIE5:24
(d) 3TTE 5:18

gfe feredt sfaa =T & 39T 31 & & I+ &
&TcHeh |TSAT, ST I W 31feren &1, | et faar
ST, aRom =

(a) UM A P A BT g

(b) EHI e B W =T B

(c) THEN g = % SRR e

(d) T8 IR B % e 9 9 F off 7 w1
ST Fehell
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Q 46. The above passage seems to imply that

Q47.

1. most of modern economic growth is
based on technological progress.

2. much of modern Indian economy does
not nurture relationship sufficient with
symbiotic  labor-intensive, natural
resource-based livelihoods.

3. service sector in India is not very
labor-intensive.

4. literate rural population is not willing to
enter organized sector.

Which of the statements given above are
correct ?

(a) 1and 2 only
(b) 3 and 4 only
(¢) 1,2and 3 only
(d 1,2,3and 4

Passage - 6

India has banking correspondents, who help
bring people in the hinterland into the
banking fold. For them to succeed, banks
cannot crimp on costs. They also cannot
afford to ignore investing in financial
education and literacy. Banking
correspondents are way too small to be
viewed as a systemic risk. Yet India’s
banking regulator has restricted them to
serving only one bank, perhaps to prevent
arbitrage. Efforts at banking outreach may
succeed only if there are better incentives at
work for such last-mile workers and also
those providers who ensure not just basic
bank accounts but also products such as
accident and life insurance and micro
pension schemes.

Which one of the following is the most
logical, rational and crucial inference that
can be derived from the above passage ?

Q 48.

Q 49.

Q 50.
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(a) Efforts to bring people in India’s hinterland
into the banking system are not successful.

(b) For meaningful financial inclusion,
India’s banking system needs more
number of banking correspondents and
other such last-mile workers.

(¢) Meaningful financial inclusion in India
requires that banking correspondents
have diverse skills.

(d) Better banking outreach would be impossible
unless each banking correspondent is
allowed to serve a number of banks.

What is X in the sequence
132,129, 124,117, 106,93,X ?

(@) 74
(b) 75
(c) 76
(d) 77

A wall clock moves 10 minutes fast in every
24 hours. The clock was set right to show
the correct time at 8:00 a.m. on Monday.
When the clock shows the time 6:00 p.m. on
Wednesday, what is the correct time ?

(a) 5:36 p.m.
(b) 5:30 p.m.
(c) 524 p.m.
(d) 518 p.m.

If the numerator and denominator of a
proper fraction are increased by the
same positive quantity which is greater
than zero, the resulting fraction is

(a) always less than the original fraction

(b) always greater than the original fraction
(¢) always equal to the original fraction

(d) such that nothing can be claimed definitely
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3TTHN 4,196, 16, 144, 36,100, 64, XHX FME?  Q56. WM T, 31Uk UTF - Hed &, 1, 10 3R 50

Q 51.

Q 52.

Q53.

Q 54.

Q>5s.

(@) 48
(b) 64
© 125
d 256

feret we 9 15 oAt §; T 9 7 ther ve wehd
2, 8 STIST U Wehd €, STaITeh 3 I I WTaTsii &
H RIS WY WTOTE Ue Wehd | feha oarferT remefa:
Teh VT UG WA & ?

(@) 10
(b) 9
© >
@d 4

TIE Ugeh ferdll Toaeh & J&T W 1 A URT IS
HEHT STeTdl ¢ 3T et FretT T 3089 37k Ui
HATE 130 G U fha g & 2

(@
(b)
(©)
@

Tordt fomame T IERUT A ot fefeaiaa
TR W o whifsTe:

e T & 3 9Tt SRR A AR 2
(a) abba
(b) cbbb
(¢) bbbb
(d) cccce

TRt URER & & oo & 31 S7ak HIaT-TUar & sr=at
3R 39EH HTAT o Tl &l 306 50 kg & | S/t

3R I Frar h o o 3i e 52 kg © 19 frar
AT 60 kg &, AT AT o I [ehaT & 2

1040
1048
1049
1050

48 kg
50 kg
52 kg
54 kg

(@)
(b)
(©)
@

Q 57.

Q 58.
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HEUAT ST GG HISTH ¢ | 31T 107 3 Teh fefet aht
AT fefa fafT=r adienl A o e & 2

(a) 16
(b) 17
(c) 18
(d) 19

‘A’ 37U TR | URY Y Ja i 3T 20 m
T, STEt SHenl fa ‘B’ s« faer wm 3
T ST fe9m & 10m WT-Hrg aet 1 a9 ‘A’
T3 3T §S AT Wefe ‘B’ g 3 HS
AT 3R A HAI: 2m AR 8m T | FRT ‘B’
T3 3 g &Y 4m TAT TTHeh 91g 37U+
e 3R 5m TeTehT U HIIATTT Ug
T ‘A’ TIfET IR g T 3R 12m
T U WHEATAT Ugd ATl gl
ATt o site AaH g fwrat & 2

(@
()
(©)
@

B AT, S1 3R S2 37X I &S 31 ot U9
R faar st

S1: p 3R q TFI s HEAE E |
S2: p+q fersm quitR B |

oo T faw quiien @ 2

15m
17m
19m
20m

frafafaa i dwA-TTTw e  ?

3 U9 ol ITR e o U 3rehed S1 i

T U9 o 3T o o [T 37ehed S2 T &
T U &I IR 24 % fu $1 3R 82 2 U
T o v e B

39 Y9 & ST e & fu S1 3 2 M
SEATTH T

(@)
(b)
(©)

@
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Q51.

Q>52.

Q 53.

Q 54.

Q>55.

What is X in the sequence

4,196, 16, 144, 36, 100, 64, X ?
(@) 48
(b) 64
e 125
d) 256

In a group of 15 people; 7 can read French, 8 can
read English while 3 of them can read neither of
these two languages. The number of people who
canread exactly one languageis

(a) 10
(b) 3
(c) 9
(d >
A printer numbers the pages of a book

starting with 1 and uses 3089 digits in all.
How many pages does the book have ?

(@) 1040
(b) 1048
(©) 1049
@ 1050

Consider the following sequence that
follows some arrangement:

c_accaa_aa_be_b

The letters that appear in the gaps are

Q 58.

(a) abba
(b) cbbb
(¢c) bbbb
(d) ccce

A family has two children along with their
parents. The average of the weights of the
children and their mother is 50 kg. The average
of the weights of the children and their father is
52 kg. If the weight of the father is 60 kg, then
what is the weight of the mother ?

Q 56.

Q57.
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(a) 48 kg
(b) 50 kg
(¢c) 52kg
(d) 54 kg

Suppose you have sufficient amount of
rupee currency in three denominations: 1,
10 and 50.In how many different ways can
you pay a bill of 107?

(a) 16
(b) 17
(c) 18
(d) 19

‘A’ started from his house and walked 20 m
towards East, where his friend ‘B’ joined
him. They together walked 10 m in the
same direction. Then ‘A’ turned left while
‘B’ turned right and travelled 2 m and 8 m
respectively. Again ‘B’ turned left to travel
4 m followed by 5 m to his right to reach his
office. ‘A’ turned right and travelled 12 m
to reach his office. What is the shortest
distance between the two offices ?

(@ 15m
(k) 17m
© 19m
@ 20m

Consider two statements S1 and S2
followed by a question:

S1: p and q both are prime numbers.

S2:p + qis an odd integer.

Question: Is pq an odd integer ?

Which one of the following is correct ?

(@) S1alone is sufficient to answer the question

(b)  S2 alone is sufficient to answer the question

(¢) Both S1 and S2 taken together are not
sufficient to answer the question

(d) Both S1 and S2 are necessary to answer
the question

PAPER - 11

27



UPSC CSAT 2019

Q 59.

Q 60.
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fore ot T SheteT Sieh T & © ST 2009 F
FASTE ?

(@ 2018
(b) 2017
(c) 2016
@ 2015

TEAT 136 i 5B7 H SIS U UTWT JHTHT 7A 3
%, el A 3R B yutier & | g femm e € fof 743
Forela: 3 ¥ fquTsT 31 B T UhHTS EHE AT
AL ?

(@) 2
(b) 10
© 7
(d 8

I 3 ATt 7 (| U979 o for fordor :

Frferiad die dR=sel i Iy 31X Teish aR=se %
TS 3T oIl TSl o TR SIfSTT | 3 wisti o fore
3Tk SR heel Heiferd e T 3R g =iy |

gi=se-1

IRd 1 3Mfde qe8m™ (Fefiie), sqat Sauen
1 <Ed gu, 3l off US, Tdm gm 1 = i
T 0 A B | 3= sreferaensii ¥ diaH & oy
T ITE HE FD 7, AL T8 37 THIEAT 6l &
HTifrard AT ST S gEht ST Uit %
SFTEY € | A I TAH STETE TINTH Y =i
Teh HEAM SNUilid UuTE creeniores [ATHen
ST ! W IR TR el | fafer=m gifeq
GROTH &M o1 Y3 3d €, a3 fereht 7 fensht
HIEAHH Wl 3 GG & T TsTifeh STl &
w9 H aR-9R TS R ST 81w fafem
TR AT enfefer Hafs TR g dret 3R =1 %1
- vferaielt feremedt ot forem e o 319 3 - S
= | fafrei =1 s sy | iR sifves =mae
w9 U WEh B et 9ghg 9 SHd W S
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SIIRY 61 S R T Weha 7 | 30k sifafie,
faframt & sifard w9 9 sme srfess afomy
BId B | ST & 3Afd wiqann afyaes srefeqacen o
fafrrmt ol T “gRERiR & &9 & <@ S =y
St sifreRier ATRent & 3nffer soAToT S T
FA U AN & SAHT & WY W 3R
T EROfT 19 A 61 T R

Suder uitede | frefafad § & SiF-91 T,
Haiteres TehETd, feraenyut 31T fHotiees frreend
TR ST EEATE 2

(@) Th ogR e qae 9Rd Wl gEeh!
TGS & AT~ SIS AT i Sreferaen
T A o T BT I,

(b) W f¥aer srefeqawen o, wra @i fafrmi
T T & ST AT T |

() TRa fafFem e e et e sreietaren
o 1 3T TehehT oh T Tl o |

(d) 9 o e e & foee o ISR &
GoT 3R 3Mfieh Tafg o faR =l vod 9 9

IG1 ST AT |

U URESE oh SR W ffaiad yerenummd
TETEE

ST HI AT ST H,

1. faferl @ e seEe e SR
M o fore e fopan T R |

2. fafml o wEi=aEE S 999 9Efss e
TR WERT H R fovd ¥ WERi g/
AR TR SY&T o STl @ |

ST § | ST HRUT | qeeRomTd e

#/E 2

(a) Had 1

(h) HAA2 .

) 132
@ Ad1, WAL 2
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Q 59. Which year has the same calendar as

Q 60.

that of 2009 ?
(@ 2018
() 2017
© 2016
d 2015

Number 136 is added to 5B7 and the sum Q 61.

obtained is 7A 3, where A and B are integers.
It is given that 7A3 is exactly divisible by 3.
The only possible value of Bis

(@ 2
() >
(© 7
d 8

Directions for the following 7 (seven ) items:
Read the following five passages and answer
the items that follow each passage. Your
answers to these items should be based on
the passages only.

Passage - 1

India’'s economic footprint, given its
population, still remains small compared to
the US, the European Union or China. It has
much to learn from other economies, yet must
implement solutions that fit its unique
circumstances. India especially needs an
effective long-term regulatory system based
on collaboration rather than the current top-
down approach. Regulations seek desirable
outcomes yet are repeatedly used as political
tools to push one agenda or another. Often,
regulations fail to consider impacts on jobs
and economic growth or less restrictive
alternatives. Regulations may be used to
protect local markets at the expense of more
widely shared prosperity in the future.
Additionally, regulations inevitably result in

Q 62.
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numerous unintended consequences. In
today’s hyper competitive global economy,
regulations need to be viewed as “weapons”
that seek  cost-justified social and
environmental benefits while improving the

economic well-being of most citizens.

Which one of the following is the most
logical, rational and crucial inference that
can be derived from the above passage ?

(a) A better regulatory system will help
India achieve the size of economy
appropriate to its population.

(b) In a competitive global economy, India
must use regulations strategically.

(c) Regulations in India do not favour its
integration with today’s hyper competitive
global economy.

(d) Job creation and economic growth
should be dominant considerations in
developing India’s regulatory system.

On the basis of the above passage, the
following assumptions have been made:

In today’s global economy,

1. regulations are not effectively used to
protect local markets.

2. social and environmental concerns are
generally ignored by the governments
across the world while implementing the
regulations.

Which of the above assumptions is/are valid ?

(@) 1only

(b) 2 only

(¢) Both 1and 2
(d) Neither 1nor 2
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Passage -2

In a study, scientists compared the microbiomes
of poorly nourished and well nourished infants
and young children. Gut microbes were isolated
from faecal samples of malnourished and
healthy children. The microbiome was
“immature” and less diverse in malnourished
children compared to the better developed
“mature” microbiome found in healthy children
of the same age. According to some studies, the
chemical composition of mother’s milk has
shown the presence of a modified sugar
(sialylated oligosaccharides). This is not
utilized by the baby for its own nutrition.
However, the bacteria constituting the infant’s
microbiome thrive on this sugar which serves
as their food. Malnourished mothers have low
levels of this sugar in their milk. Consequently,
the microbiomes of their infants fail to mature.
That in turn, leads to malnourished babies.

Which one of the following is the most logical,
rational and crucial inference! that can be
derived from the above passage ?

(@) If malnourished condition in children is
caused by gut bacteria, it cannot be

treated.

(b) The guts of malnourished babies
should be inoculated with mature
microbiomes.

(¢) Babies of malnourished mothers should
be fed with dairy milk fortified with
sialylated oligosaccharides instead of
mother’s milk.

(d) Research on benign effects of gut
bacteria on implications. nutrition has
policy

On the basis of the above passage, the
following assumptions have been made :
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1. Processed probiotic foods are a solution
to treat the children suffering from
malnutrition due to
bacteria composition.

2. The babies of malnourished mothers
generally tend to be malnourished.

immature gut

Which of the above assumptions is/are valid ?

(a) 1only

(b) 2 only

(¢) Both 1and 2
(d) Neither 1nor 2

Passage-3

Temperatures have risen nearly five times as
rapidly on the Western Antarctic Peninsula
than the global average over the past five
decades. Researchers have now found that
melting glaciers are causing a loss of species
diversity among benthos in the coastal waters
off the Antarctic Peninsula, impacting an
entire seafloor ecosystem. They believe
increased levels of suspended sediment in water
to be the cause of the dwindling biodiversity in
the coastal region.

On the basis of the above passage, the
following assumptions have been made:

1. Regions of glaciers warm faster than
other regions due to global warming.

2. Global warming can lead to seafloor
sedimentation in some areas.

3. Melting glaciers can reduce marine
biodiversity in some areas.

Which of the above assumptions is/are valid ?

(a) 1and 2 only
(b) 3 only

(¢) 2 and 3 only
(d) 1,2and 3
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Q 66.

Passage -4

A research team examined a long-term owl
roost. Owls prey on small mammals and the
excreted remains of those meals that accumulated
over the time, provide us an insight into the
composition and structure of small mammals
over the past millennia. The research suggested
that when the Earth went through a period of
rapid warming about 13,000 years ago, the small
mammal community was stable and resilient.
But, from the last quarter of the nineteenth
century, human-made changes to the
environment had caused an enormous drop in
biomass and energy flow. This dramatic decline
in energy flow means modern ecosystems are
not adapting as easily as they did in the past.

On the basis of the above passage, the
following assumptions have been made :

1. Global warming is a frequently
occurring natural phenomenon.

2. The impending global warming will not
adversely affect small mammals.

3. Hur ans are responsible for the loss of
the Earth’s natural resilience.

Which of the above assumptions is/are valid ?

(@) 1and 2 only
(b) 3only

(¢) 2 and 3 only
(d 1,2and3

Passage-5

Food varieties extinction is happening all over
the world and it is happening fast. For example,
of the 7,000 apple varieties that were grown
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during the nineteenth century, fewer than a
hundred remain. In the Philippines, thousands
of varieties of rice once thrived; now only up to a
hundred are grown there. In China, 90 percent of
the wheat varieties cultivated just a century ago
have disappeared. Farmers in the past
painstakingly bred and developed crops well
suited to the peculiarities of their local climate
and environment. In the recent past, our heavy
dependence on a few high yielding varieties and
technology-driven production and distribution
of food is causing the dwindling of diversity in
food crops. If some mutating crop disease or
future climate change decimates the few crop
plants we have come to depend on to feed our
growing population, we might desperately need
some of those varieties we have let go extinct.

On the basis of the above passage, the
following assumptions have been made:

1. Humans have been the main reason for the
large scale extinction of plant species.

2. Consumption of food mainly from locally
cultivated crops ensures crop diversity.

3. The present style of production and
distribution of food will finally lead to
the problem of food scarcity in the near
future. Our food security may depend on
our ability to preserve the locally
cultivated varieties of crops.

Which of the above assumptions are valid ?

(@) 1and3
(b) 2and4
(c) 2and3
(d) 1and4
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Q 68.

Q 69.

Q 70.

Q71.
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(a) hael 132
(h) a2 3R 3
(c) ohael 133
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Q 68.

Q 69.

Q70.

Q71.

If every alternative letter of the English
alphabet from B onwards (including B)
is written in lower case (small letters)
and the remaining letters are capitalized,
then how is the first month of the second
half of the year written ?

(@) JULY
(b) JULY
(c) Jjuly
(d) jUIY

Sunita cuts a sheet of paper into three
pieces. Length of first piece is equal to the
average of the three single digit odd prime
numbers. Length of the second piece is
equal to that of the first plus one-third the
length of the third. The third piece is as
long as the other two pieces together. The
length of the original sheet of paper is

(a) 13 units
(b) 15 units
(¢c) 16 units
(d) 30 units

In the sequence 1,5, 7,3,5,7,4,3,5,7,
how many such Ss are there which are
not immediately preceded by 3 but are
immediately followed by 7 ?

(@ 1
(b) 2
(c) 3
(d) None

A joint family consists of seven members
A,B,C,D,E, F and G with three females.
G is a widow and sister-in-law of D’s
father F. B and D are siblings and A is
daughter of B. C is cousin of B. Who isE ?
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Select the correct answer using the code
given below:

(@) 1and 2 only
(b) 2 and 3 only
(¢) 1and 3 only
(d 1,2and3

Each face of a cube can be painted in
black or white colours. In how many
different ways can the cube be painted ?

(a) 9

(b) 10
(c) N
(d) 12

How many triplets (x, y, z) satisfy the
equationx +y +z = 6, where X,y and z are
natural numbers ?

(@) 4
®) 5
(c) 9
@ 10

If $ means ‘divided by’; @ means
‘multiplied by’; # means ‘minus’, then
the value of 10#5@ 185 is

(@
(b)
(©)
@

An 8-digit number 4252746B leaves
remainder 0 when divided by 3. How
many values of B are possible ?

(@) 2

(b) 3
(c) 4
(d) 6

O N = O
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Q76.

Q77.

Q78.
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(a) E o1 9Tdieh C o WTeiieh ¥ 3Afereh g
(b) C 1 WISk E o Wsiich W 3feren g

(¢) A AT wE A
(d) D o AT Y i 8

3 ST a7 2 () weAren o forw frdor :

freferRaa s, $1 31X S2, i UfeT 3T 3
TS 3T aTel & UYATIN o ST SITIT :

S1: Qg o a9 1 AT, Higd % a9 1 Aed &
T AFAL|

S2: A& % I Hl AT, e & ae o1 Gie &
EERES e

Q 79. Trefarad woi A @ HT-GT T TETE ?

(a) HIET oS SAehaH &

(b) EE I TS HA(HAH B

(¢) B I I SAferhaH B

(@) “TorgeRt O ferehad B T i =2 foran
RG]

Q 80. Frefrfad wu i H ¥ P-TTUH T ?

(a) FE I FATH &

(b) BIE T A =ATH &

(c) & P I AAH B

(@) ‘TorgeR a9 = ¢ Te i & fomn s
el
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Q 76.

Q77.

Q78.

Directions for the following 3 (three) items:

Read the following information and
answer the three items that follow:

Six students A, B, C, D, E and F appeared in
several tests. Either C or F scores the highest.
Whenever C scores the highest, then E scores
the least. Whenever F scores the highest, B
scores the least.

In all the tests they got different marks; D
scores higher than A, but they are close
competitors; A scores higher than B; C scores
higher than A.

If F stands second in the ranking, then
the position of B is

(a) 'Third
(b) Fourth
(c) Fifth
(d) Sixth

If B scores the least, the rank of C will be

(a) Second

(b) Third

(¢) Fourth

(d) Second or third

If E is ranked third, then which one of
the following is correct ?
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(a) E gets more marks than C
(b) C gets more marks than E
(¢) A isranked fourth

(d) D is ranked fifth

Directions for the following 2 (two) items:

Read the following statements S1 and S2
and answer the two items that follow:

S1: Twice the weight of Sohan is less than the
weight of Mohan or that of Rohan.

S2: Twice the weight of Rohan is greater than
the weight of Mohan or that of Sohan.

Which one of the following statements is
correct ?

(a) Weight of Mohan is greatest

(b) Weight of Sohan is greatest

(¢) Weight of Rohan is greatest

(d) ‘Whose weight is greatest’ cannot be
determined

Which one of the following statements is
correct ?

(a) Weight of Mohan is least
(b) Weight of Sohan is least
(¢) Weight of Rohan is least
(d) Whose weight is
determined

least’ cannot be
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